log posteriori

-33.30 -33.28 -33.26 -33.24 -33.22 -33.20

-33.32

Convergence plot

== All calculated a posteriori

= |Maximum a posteriori calculated

1.0

15

2.0

number of function calls

I
2.5

I
3.0




log posteriori

-33.30 -33.28 -33.26 -33.24 -33.22 -33.20

-33.32

Convergence plot

== All calculated a posteriori

= |Maximum a posteriori calculated

1.0

15

2.0

number of function calls

I
2.5

I
3.0




posteriori

3.5e-15 3.6e-15 3.7e-15 3.8e-15

3.4e-15

Convergence plot

=== Al calculated function values

1.0

15

2.0

number of function calls

I I
2.5 3.0




log posteriori

-33.30 -33.28 -33.26 -33.24 -33.22 -33.20

-33.32

Convergence plot

== Maximum function values calculated

1.0

15

I I I
2.0 2.5 3.0

number of function calls




log posteriori

-25

-30

-35

-40

Convergence plot

== Maximum function values calculated

0.0

0.1

I I I
0.2 0.3 0.4

log10 of number of function calls




